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Topic:- GENERAL HINDI

1) “fag wr Td g fag ®rm

o foag &4 33 fafdr amm -

SR & 7S ufdrTal # e § A I A1 SeeR T g3 8?
1, U

2, ffrRAIfad

3. fauram

4. TP

Correct Answer :-

. Tayra

2) frefafEa & & e I & Riw i o faea U ad 22
1. HS3d
2. 34d
3. 33T

4. 3YUctl

Correct Answer :-

o 3YdI

3) e Hit w7 Uer € 1 g3 8P & e vy 811 a1 U Ueg B
1. T
2. 3T X7
3. SISIIITE
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4, 351G

Correct Answer :-

4) R R fawedl #§ A FTAT BT Yo U HI AT 82
1. g8

2. THISNEY

3. BEIRAU

4. TXI&T

Correct Answer :-

- XU

5) «3raa fo®M T 9 geray 1 o Frafif@d el A B arg?
1. §gd gigHM i

2. G AT

3. AAIHTHAT Ut BT

4, Yol GHY o 3T
Correct Answer :-

o YA O T

7) RMERGHEE & YU I % U § f6 79 &1 qui foear mar g2
1. Hfea g
2. 3EYA T
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3. I
4. AT

Correct Answer :-

. Y™

8) W Ga JEHTHR, WS 7 AR I’ § B¢ o1 A9 ga1g¢l
1. dI0TE B

2. GRA1 &G

3. RATE

SR T

Correct Answer :-

. RAGQ

9) ‘Remuneration’W$m%ﬂ“mﬁ3ﬁﬁmﬁwmmmﬁl
1. 9 ¢

2. QTR YA

3, A IHIROT

4, ToIRT Hedl

Correct Answer :-

. UIRYHD

10) fA=fIEa A O A &1 yataam 2 o9 9182
1. Pud
2. BHA

3.30d
4, 3y

Correct Answer :-

Topic:- GENERAL ENGLISH
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1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

The vice president of the company gave his subordinates a piece of his mind when the sales figures nosedived.
1. pitched in

2. counselled

3. reprimanded

4, advised

Correct Answer :-
e reprimanded

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

Why do you encroach on the liberty of others?
1. disengage

2. intrude

3. exonerate

4, extricate

Correct Answer :-
 intrude
3) Out of the following options, choose the most appropriate usage to fill in the blank:

The soaring oil prices, currently trading well above the mark of US $100 per barrel, have become global
concern.

1. the cause off
2. a cause off
3. a cause for

4, with a cause to

Correct Answer :-
e acause for

4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

The trees in my colony down way for the metro.

1. had cut, to make
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2. has been cut, to make
3. are cut, making

4. are cut, to make
Correct Answer :-

» are cut, to make

5) Out of the following options, choose the correct form of adverb for the given sentence:
I ate my lunch

1. with a reverence
2. hurriedly
3. goodly

4. in an hurry

Correct Answer :-
» hurriedly

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

Evidence that there were never more than eight dwellings.
1. is suggest

2. are suggested
3. suggest

4, suggests
Correct Answer :-

« suggests

7) Out of the following four options, choose the incorrect sentence:

1. You are partly right in your assessment, but you are also wrong on one account.

2. Soldiers in forward areas using camouflage to prevent being seen while on a mission.

3. Is it possible for you to oversee the presentation that these employees are working on?

znd

4. We are pleased to announce that we are scheduling a workshop on December 22" afternoon.

Correct Answer :-

» Soldiers in forward areas using camouflage to prevent being seen while on a mission.



8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Advertisements are designed to persuade.

P. They have discovered that a man's hidden desire to possess leads him to buy things.

Q. In this case, the packet, they have found, often influences buyers more than the contents.

R. In the last few years, persuasive techniques have become more and more effective, thanks in part to
psychologists who have analyzed the motives and tested the reactions of thousand of shoppers.

S. In one study, they found that people who subconsciously feel they should clean their teeth more often, fall for
toothpaste which removes their guilt feelings by promising protection with only one brushing a day.

6. This knowledge and much more, is now in the service of the advertiser.

1. RPSQ
2. PQRS
3. PQSR

4. PRSQ

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) Which among the following Fundamental Rights is not available to Aliens? /
Frafafea Hifee sfiert & & o a1 faRal & forg Suasy 8 32

1. Article 14 / 3Jo5¢ 14

2. Article 19 / 396 19

3. Article 20/ 3@@? 20

4. Article 21 / 3¢ 21

Correct Answer :-

« Article 19/ 3J%3G 19

2) When was the National Register of Citizens (NRC) first prepared? /
AP AR TR (TSR Uge IR S G4 foar war 412

1. 1950

2. 1951

3. 1949

4. 1947

Correct Answer :-
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3) Who is recently appointed as the Director General of National Investigation Agency (NIA)? /

T 51 H AT 3AT0T STHSHVT (THINY) F TSP & U H fordt forga fomar a3
1. Sunil Arora / grildl 3RIST

2. Y.C. Modi / a5 1. At

3. Rajiv Mehrishi / IToitd A8

4. Ashok Lavasa / 3{R1d6 I

Correct Answer :-

« Y.C. Modi / a1 3, At

4) Who among the following was the architect of Madhya Pradesh Vidhan Sabha Bhavan ? /
T YR fIUaUT Yo & IRgepR FuRiRa A o= A2

1. Piloo Mody /tﬁf‘j\m_ﬁpf

2. Laurie Baker / TR} 9

3. Charles Correa / TR SHIRAT

4. Eugene Pandala / Trﬂ:[ EEIS])

Correct Answer :-

« Charles Correa / TR HIRAT

5) __ was the first dam to be built on the Chambal river in Madhya Pradesh. /
_ F YR H 99 4t UR ST T Ugdn 919 o

1. Gandhi Sagar Dam / e IR 9y

2. The Kota Barrage / PicT SRl

3. The Rana Pratap Sagar Dam / 10T UdTJ §1¢

4. The Jawahar Sagar Dam / STdTgR IR &Y

Correct Answer :-

« Gandhi Sagar Dam / et IR diY

6) The Initiative launched by MP Government for the effective resolution of Public Grievances is /
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Wi Read & THH FRIPUT S T AT IR MORERIGE P TS Tead ¢l
1. EOW Online / SIS AT

2. GRS Online / SII3RTY IS

3. ¢PSC / SUTTHH!

4. Samadhan Online /FHTYT 3T

Correct Answer :-

« Samadhan Online /FHTYT 3T

7) The Gharial is listed as in the IUCN Red List. /

gt e gt & ufdara @t & ¥u ¥ e fear man g
1. Critically Endangered Species / IR Yheod gafaal

2. Threatened Species / ﬁmw gl Hbc TeTTierd]

3. Vulnerable Species / SrGRI&d TSTTial

4. Least Concerned / b cHdd PEIGH

Correct Answer :-

« Critically Endangered Species / IR JHeuwd Usiiadl

8) The Lotus Temple is a place of worship for which faith? /

T el & forg ot wfeR (eflew v ot &1 T e 32
1. Judaism / TgaT &H

2. Jainism / oI &

3. Zoroastrianism / TRYT &

4. Bahai / 9815

Correct Answer :-

+ Bahai/ EETa;

9) The Madhya Pradesh Griha Nirman Mandal Adiniyam Act was enacted by the MP Legislature in the
year /

nw yex e fwfur dea siftfem st ad & geawdw fumvisa grr eiftfafia fear mar an
1. 1956
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2. 1973
3.1972
4, 1962

Correct Answer :-

- 1973

10) Which of the following institution regulates Real Estate Infrastructure Investment Trusts (REITs) /
Fafafae ¥ @ w19 a1 Twm Rud (e ShResR s7avede o (RS AE ) Fi A afie seare
1. NABARD / 8T8

2. NAFED / g

3. RBI / HRa oid S

4. SEBI / ¥sit

Correct Answer :-

. SEBI/adl

Topic:- GENERAL REASONING

1) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
A & 1 g 3reRY vd @S BT S WA SRl 8| e WAt uga |

(i) MU12HE78WE

(ii) MU12HE78WE

(iii) MU12HE73WE

(iv) MU12HE78WE

1

2.ii

3.iv

4. iii

Correct Answer :-
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There are 13 students in a Physics class and 27 students in a Biology class. Find the number of students
who are either in a Physics class or in a Biology class, if the two classes meet at different hours and 7
students are enrolled in both courses. /

Yifas! &1 Fem A 13 DT € MR oiia Ay &1 san # 27 9= 8| afe ) wamd At gef § fradt § onr il
%mam’fﬁ7':513%#%%’,a}mﬁﬁmmaﬂﬁmﬁmaﬁﬁﬁmﬁaﬁa&nﬁ%ma}maﬁa&nﬂ
|

1.31

2.32

3.37

4,33

Correct Answer :-

3) IfFA=1,PAT =37,then TAP =? /
gfidA=1,PAT =37, A TAP =?

1.36

2.37

3.28

4,73

Correct Answer :-

. 37

4) Find the missing number: / T JET JTd B3
10, 100, 200, 310,

1.410

2.400

3.420

4,430

Correct Answer :-

+ 430

5) Find the average. / 3 Waﬁl
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78,74,95,75,78 & 74
1.52
2.79
3.82
4. 62

Correct Answer :-

. 79

6) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

et fog 7e ar udl & 9 i 33 T 1 & St Tum S a1 e 6 82
Crafty Clicks

St Andrew's House,

Maidenhead, SL6 1QZ

United Kingdom

+44 (0) 1628 201254

(i) Crafty Clicks

St Andrew's House,
Maidenhead, SL6 1QZ
United Kingdom

+44 (0) 1628 201254

(ii) Crafty Clicks

St Andrew's House,
Maidenhead, SL6 1QZ
United Kingdom

+44 (0) 1628 201254

(iii) Crafty Clicks

St Andrew's House,
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Maidenhead, SL6 1QZ
United Kingdam

+44 (0) 1623 201254

(iv) Crafty Clicks

St Andrew's House,
Maidenhead, SL6 1QZ
United Kingdom

+44 (0) 1628 201254

4. iil

Correct Answer :-

7) Suresh can do a piece of work in 20 days and Dilip can do the same work in 30 days. How long will they take
if both of them work together? /

TR TP HTH & Th URT BT 20 31 & B2 Tovar 7 iR fachiu St & &1 30 i A R gwar g1 afe
3 S UP ATY BTH A & dl I3 [pd=l THd TIT?

1. 10 days / 10 fea
2.12 days/ 12 e
3. 16 days / 16 faH
4, 14 days / 14 fa

Correct Answer :-

. 12days/ 12¢F

Topic:- PEDAGOGY

1) Whom among the following is described as ‘Father of psychoanalysis’? /

frafeafea & A feae! waifazauu & far & wu & afvfa fear mar g2
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1. Sigmund Freud / s wrus

2. Erick H. Ericson /W T, Q’P\’_Gl'\q:f
3. Abraham Maslow / 3(STEH Al

4, Jean Piaget / GI\T’UTI\_;T

Correct Answer :-

« Sigmund Freud / R s

2) At authoritarian level, teaching is: / SRR TR R, ﬁT&‘I’UT = Eﬁ?ﬂ %:
1. Headmaster-centered / W {ATUH-biad

2. Parent-centered / 3THHTAD Bigd

3. Teacher-centered / TRI&f®-dHisd

4. Child-centered / STQI-Sh%dl

Correct Answer :-

« Teacher-centered / Rrerp-wid

3) What term is assigned to rules of language concerning how to use language effectively in context? /

forlt g & yTaT BT YUTH 1 & ITANT HRA & ARis & IR H YT & 191 B T HT ATl 82
1. Phonology / BIHIQISI

2. Morphology / BTGt

3. Syntax / Riceq

4. Pragmatics / FWHICH

Correct Answer :-

« Pragmatics / Uafe®

4) Micro-teaching is a . /F’I’Q—ﬁT&I’UT (rnéaﬁ-é’rﬁm Udh %I
1. teacher training technique / TRI& UTRI&OT qH-ilaht

2. teaching method / TRT&0T Tgfd

3. problem solving method / FHYT JHIYUTH fafe

4. psycho social development / AT TrATIS faer

Correct Answer :-
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« teacher training technique / TR1& TRI&OT dh-tep!

5) The number of independent variables in a research design should be: /
TS IJHU s # W =R 3 IB g1+ Irfee:

1. Two only/wa

2. As much as the design permits LRI REACSIES] 313,'5[% &l %I

3. No limit / ﬁ_ﬁc i) :I_E>pf

4, Only one /W Uh

Correct Answer :-

« As much as the design permits ASGRIEIREACEIES &Iﬂﬂﬁf a_dTg'l

6) To interpret a raw score obtained on a test, it is essential to: /

TP U&7 § YIS §U TUTUTS THP ([ TP IR) B UTT B & (1T, g TGP o
1. Consult a statistician. / Uh W@Jﬁﬁ?{ I IRER A |

2. Convert the scores into standard deviations. / Hlldicb\l. ﬁ A faaa- ff tlﬁa'ﬁﬁ aﬁl

3. Convert the scores into standard scores. /Fﬂ?ﬂﬁ P HFD 3fp! § ulkafdd B

4, Convey them as they are obtained. / 3% GE3| Bl RN B oY 91 U Y % I

Correct Answer :-

» Convert the scores into standard scores. / UTih] &l HIF® 3ih] | qﬁﬂﬁﬁ B

7) Educational surveys use which of the following techniques? /

A wdamr e 3 § e ae-ie o1 Iwa od 82
1. Case study / B T WE@)

2. Clinical research / AGId gAY

3. Interview / HI&THR

4, Experimental method / R fafdr

Correct Answer :-

o Interview / HI&ThR

8) Among methods of data collection, the experimental method is more reliable because: /
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Sl HUgU &1 faftrl | 4, yraifie faftr siftre fawawita 3, Fife:

1. The results obtained through experimental method are universally applicable. /
TR faTe 3 A1es J U g1 arel uRumd, 4 U J wasg g1d § |

2. The experimental situation can be replicated. /
TR T 1 Ufcrplal §18 S Febell 8 1

3. The individual’s thoughts and feelings have no value to the topic under study. /
3 fpy oM aral fawg & o safaa & foaRl @ wramstt &1 ois g T8l ]

4, It provides deeper insight into the understanding of the individual. /

g Afod b1 JHS & ATUD 32D USH Bl g

Correct Answer :-

« The experimental situation can be replicated. /

e fRUfT Bt ufiefa a8 STaHd g 1

9) Which of the following does not belong to instructional technology? /
Fr=fafea & 3« sreRmee Wit § Jefta 78 82

1. T group Method / T dHg fafg

2. CAI/CAL / HIU3MTS /AT

3. Programmed instruction / SHTGIRIA &fﬂ%ﬂ

4. Media and printing equipment / Hifear g flifdT Iusmu

Correct Answer :- N

T group Method / T HHg fafy

10) Which of the following sequence reflects the correct experiential learning process, as described by
Kolb? /

fFrfafad & 9 o9 91 3 gwH Bied gRT Ieaiad Tt UTaiie Sied= ufshar & ufafdafad sar 82
1. Applying, generalizing, experiencing, processing / @H\Q@"T, FITIWUT, S{JHd, UhHUT
2. Processing, experiencing, generalizing, applying / Ush HUI, 3{]Hd, BIEIRIEZN m”'{
3. Generalizing, experiencing, processing, applying / RIS, S{JHd, UhHU, \’rlﬁqth"'f
4. Experiencing, processing, generalizing, applying / 3{JHd, Yh HU, HHRITHRI, Gﬂgtn"[

Correct Answer :-
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« Experiencing, processing, generalizing, applying / 3{JHd, Uh HU[, TR, SHQIﬁT[

11) Which theory gives major importance to childhood experiences in development of personality? /
P A1 Rigia safeaa & Ao d sTeaeTa & Sgydl & TE Aed ¢ar 8?2
1. Cognitive / IS (BIUICH)

2. Ecological / OTRIRUII® EHIQIoIHd)

3. Psychodynamic / A AT (ATSHISIATH®)

4. Psychosocial / AT (TTSHIGIRIE)

Correct Answer :-

« Psychodynamic / HHIGTY (AEHISAHIHD)

12) Vygotsky emphasized the significance of the role played by which of the following sectors in the child’s
learning? /

IEM®! A 9 & T # 9 d 9 foow 8 g1 FruTs =it yfrer w ok fean
1. Hereditary / 3{TId I

2. Economical / 3T

3. Physical / Hifa®

4. Social / FTHTTH

Correct Answer :-

« Social / ITHISISG

13) How was Francis Galton related to Charles Darwin? They were: /

IR TTee, ITed Sia- § i Harad 4?2 7 3:
1. Not related / 13 T8¢ g1

2. Friends / &I

3. Cousins / TR HTS

4. Brothers / ﬂ-ﬂé

Correct Answer :-

« Cousins / Te q-I'I_EgF
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14) While writing, a child using the whole arm before using the fingers to hold pen or pencil represents: /

forad T Tt = gRT U9 a7 URTa &1 uwe+ & forg Sferal & SUdiT € Ugd S1d+ 4¥ 1Y &1
ST = ot e fia Hrar g:

1. Neural control / IET 70T

2. Cephalo-Caudal Principle / Ahal-pr3ed NGid

3. Specific movement / fafRree Taaq
4. Proximo-Distal Principle / WTTeRTAI-fexed Rigid

Correct Answer :-

- Proximo-Distal Principle / UTfeRTAI-f&%ed Rigid

15) RTE Act is related to ./ RS rfufeaw ¥ Hafia g1

1. Right of children to high-quality education / S<d| %I Sed-T[UawI dTell FRI&M BT SHABR

2. Right of children to free and compulsory education / el ﬁ:%]}ﬁ'? qd A fRren &1 PR
3. Right towards equality / FHIFT BT SHIYBR

4. Right to teacher education / 3{&TUSH fR18707 @1 SffYBPR

Correct Answer :-

« Right of children to free and compulsory education / Tl & {1:X[cw Ta Sifard e &1 ifepR

Topic:- COMMERCE

1) The of business firm is measured by its ability to satisfy its short-term obligations as they
become due: /

FAAATI S DI IUD! SCTPIAD M) BT GRT HIA I &HAT P TR U AT ST &
Hife 3 T T

1. Profitability / dTHUedT

2. Liquidity / T

3. Activity / Sfehaar

4. Debt / 0T

Correct Answer :-

o Liquidity / IQfAfer

2) A method for achieving maximum market response from limited marketing resources by reorganizing
differences in the response characteristics of various part of the market is known as /
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IVR & fafts it &t ulaferarsh & ftwarsi & 7ayel @ y=: "nfed o Hifta fauos Jamet |
3rRrraw IR ufafspamt ure 1 & forw uep faftr &1 * Y H S ST 2

1. Market positioning / dISIIR o fRufa
2. Market targeting / STGIR NESERI
3. Market strategy / STSTR UM

4. Market segmentation / dINIR IEHISE

Correct Answer :-

« Market segmentation / SR faHTeH

3) Induction of employees relates to ./ HUIRAT & IR0 F i 21
1. Training programme / TN - HAHH

2. Organisational awareness / TSHIHD SRS
3. Introduction / OR=T
4. Assignment of duties / el T WA

Correct Answer :-

« Introduction / U=

4) The Accounting software which can be customized to meet the special requirement of the user is
known as, /

AW HireauR o STTwal 31 faRy sazaedr &) [RT &3 & fore s ird foar o Jodr g, 39

& U H ST ST g

1. Ready-to-Use / @QT}T
2. Tailored / TS

3. Customized / HICHITTS
4, Hardware /BKE-%CR

Correct Answer :-

« Customized / hCHISSS

5) Debentures are Rs. 3,50,000 and Rs. 4,50,000 in the balance sheet of 2017 and 2018. 1000 of the
debentures of Rs. 100 each were issued at par in 2018 of which 400 debentures were issued to a
supplier for the purchase of a machine. Determine the amount of issue for debentures for the purpose of
funds flow statement./

2017 3fR 2018 & 949 e # 3,50,000 FUT 3{X 4,50,000 TUY K0T T (f$aR) €1 Ud® 100
FUT & 1000 FHUT T (FEa=_T) 1 2018 & T9 od W SR fopar war 41, oRId 400 501 =
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(&=t @1 ver w=i= ot @il & fere smyfcieat & st fovar war un1 i warg faaror & wae=
8 BT = (fEdwRT) & fore SR @1 =i f?r Fryifea &2

1. Rs. 1,00,000/ 1,00,000 »4U
2. Rs. 60,000 / 60,000 ¥4UUd
3. Rs. 30,000/ 30,000 ®¥UUd
4. Rs. 40,000 / 40,000 »UT¢

Correct Answer :-

+ Rs. 60,000 /60,000 »4u

6) Who is responsible for issuing Accounting Standards in India? /
URE & G 7S o A F oY $1H iR 22
1. Institute of Chartered Accountants of India. / SXICIC 3 AICS HBIICC AP 1Sl

2. State Govt. / I T
3. Reserve Bank of India. / HRdIT Reid §&
4. Central Govt. /a'v_s{‘-?lﬁﬂ

Correct Answer :-

- Institute of Chartered Accountants of India. / S¥KIGIC 3 dIcs AHBISCC h Sfadr

7) CANCELLED

The formula for Gravity Model to predict volume of Trade between two countries “i” and “j” is -
Here —
A is a constant term, Tj; is the value of trade between country i and country j,

Yj is country i’s GDP, Y; is country j’s GDP, and Dj; is the distance between the two countries

(“*» implies Multiplication, “/” implies division & “+” implies addition) /

a’rgqﬁl 3R «» & I ATUR B A6 1 UiTamil 319 F fore [eareyur Afsd & e wrier &-
TQ%WW%, T;; &0 i 3R M j & 14 ATUR BT He4 8,

Y, G iBIGDP B, Y; 4 j BI GDP &, 3R D;; Al oxif S a1 g 3

(<o AT TOTT 7, </ &7 313 § RUTer SR <o BT erf s @)

LTj=A O (e Yj/Dij

2.Ty=A O (R Yj*Dij

3. Tij =A% Yi * (Yj+Dij)
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Correct Answer :-

e Tj=A ¥y * Yj/Dij

8) Liquidation of company means: | BU & URTHTI BT GRf%:
1. Winding up of a company / Uh U BT FHTT

2. Amalgamation / FHHET
3. Change in memorandum of association / QF]II%IQQH & J1949 § uRkadH

4. Forming a companylwm?ﬂﬁﬁfw

Correct Answer :-

« Winding up of a company / U SO BT JHII

9) is responsible for authorization access to the database, for coordinating and
monitoring its use, and for acquiring the needed software and hardware resources./

, TIIIP FTHEATR 3R TTSAUR AT DI YTl B3 & fore 3R 39P STAHT 7
T AR PRI 3 R1T Se1ad 9o TR e 3 fore RRdeR 21

1. End users / T8 go/
2. Application programmers / Q@ﬁwm

3. Database designers / Scley %\ﬂl%ﬂ{-f

4. Database administrator / SCT&Y leﬁﬁ@&

Correct Answer :-

. Database administrator / SCI8d Qslﬁlﬁ@a

10) involves determining the value of human resources as the present value of
estimated future earnings of employees. /

T HHATRGl B AT YT $UTE & TIA oI & &4 § ATa G181 & e o1
Frefvor s it 81

1. Replacement Cost model / UfaRITIT ARTd Alsd
2. Opportunity Cost model / IR ¢ ared

3. Capitalization of historical costs model / ¥R dNTd died &1 Lj\\slnlqvwl

4. Discounted wages and salaries model / R H\rlginl 3R aa Aled
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Correct Answer :-

. Discounted wages and salaries model / AR H\rlgihl 3R da Arsd

11) is extra commission allowed over and above the normal when the agent is required
to put in hard work in introducing a new product in the market. /

S ISR A U IAUTE ) U B4 H Tole Bl ol AGAd B34 D1 aIPSdI gidl & df HTHR T SATST
3R ot T i arar sifafea st G

1. Del Credere Commission /Sd 9heX HHIRA

2. Over-riding Commission / 3fIHTE HHIH (SNARIISIST HHIRM)

3. Extra ordinary Commission / SfETYRUT HHIR (YT 3SRl HHIL)
4. Ordinary Commission / TTHTT HHITM (3TSRI HHITA)

Correct Answer :-

« Over-riding Commission / U HHIRMA (SNIRIZET HHIH)

12) are financial instruments which derive their value from their underlying assets or
securities. /

faxita SumRr € Y 391 Siaf-ifea ufeerufal ar ufayfoal & o= Jea ure &vd gl
1. Derivatives / TG
2. Bills of Exchange/ fafaa fa@
3. Commercial Paper / ClLISEACE]
4. Treasury Bill / TSI fod

Correct Answer :-

« Derivatives / dIgT

13) Based on principle business transaction will always be recoded if it can be
expressed in terms of money. /

Rigid SATIR 997 & MYR W gHRN Nepis forar s afe 33 o & e & ouad fean
ST HehdT 2|

1. The Revenue Realization Concept / JToTed UTGT S{aeRuT
2. The Accrual Concept / TiRgd- YR

3. Going Concern Concept / dIc] AT SIYRUI

4. Money Measurement Concept / I HIU S{YRUI
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Correct Answer :-

« Money Measurement Concept / &l HIUT AdYRUI

14) Income tax paid by sale trader is shown in /

faspt st g1 YA fPr T smeR B Hfqmmr wmar gl
1. Credited to capital accounts / Eﬁf@ﬂ?ﬁﬁw

2. Debited to P&L Account / Tl U8 Td &Td U &

3. Debited to Trading Account / DQ%TI LGN RE )

4. Debited to his Capital Account / W@ﬁ“@ﬁﬁé‘q

Correct Answer :-

+ Debited to his Capital Account / &mﬁqﬁ@ﬁﬁ?{q

15) Interest on own capital is / arq=ﬁqy:ﬁ TR &S] S
1. Notional cost / Sfeld ANTd

2. Sunk cost / [athd ARTT

3. Overhead / SURSTY

4. Part of Prime Cost / WWW%W

Correct Answer :-

. Notional cost / Sield AT

16) Under which method of depreciation, a business takes an insurance policy for required
amount to replace the asset when it is worn out? /

g 91 fod faft & ded, T uaumy, Ui &1 ufauTiud s+ & e smaxas iR gg Jin
giferelt @il & SId g TIHY (9 1R) B SITdl 87

1. Insurance policy method / AT Tiferd! fafer
2. Straight line method / ¥¢¢ g fafd

3. Sinking fund method / RifdT tre fafe
4, Annuity method | ATt fafd

Correct Answer :-

. Insurance policy method ; &A1 Uifer fafdr

Page- 22



17) Which of the following is an example of personal account? /

fFrafafEd & 9 o1 91 AT ST o1 3gEI0 82
1. Rent / foxman

2. Creditor / BUIGIdT

3. Furniture / THTaR

4, Machinery / AL

Correct Answer :-

« Creditor / BUIGIdT

18) Which of the financial statement represents the accounting equation? /

o1 a1 it faavor, dais-1 afisvor o1 it s 82
1. Balance sheet / §&i9 Xfte

2. Profit and loss account / @TH 3fIR g1 WTdT

3. Cash flow statement / & d] TaTg faaror

4, Manufacturing account / fafmaior cran

Correct Answer :-

+ Balance sheet / a@'ﬂﬁﬁf

19) Which of the given financial instrument is a contract between two parties to buy or sell a
underlying asset of standardized quantity and quality for a price agreed upon today with
delivery and payment occurring at a specified future date? /

fFrefeafea @ 9 o O faxiia JreE, 9= 9 iR qurer @t siaffea ukeuf & @dien ar s
%%;a%g&%ﬁ%nwwaaﬁa%,ﬁmwﬁ%uﬁwﬁfﬁwﬁwﬁvw%w&w
e ?

1. Venture Capital Fund / 3<R hfied g
2. Option / A=

3. Commodity Pool /ﬂ%ﬁ%

4. Futures /Wvﬁﬁ

Correct Answer :-

« Futures /Uﬂjﬁ
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While preparing cash flow statement, Under which of the given activity Payment of long Term
borrowing is recorded? /

ﬁwg%w%ﬁm,ﬁﬁﬁnﬁwﬁﬁﬁ%mﬁm%ammwaﬁ
T

1. It is Ignored in Cash flow statement. / G YaTg faavur | @WWWWW%I
2. Investing Activity / e fafafd

3. Operating Activity / aRaraq mifafafe

4, Financing Activity /WWW

Correct Answer :-

. Financing Activity / fa<T greor fafafe

21) The financial statements are normally prepared on the assumption that an enterprise is a
going concern and will continue in operation for the foreseeable future is based on which
concept? /

faita aorTer IMTIE: TR 339 YRUT TR d9R 5T oird & % T 39w ve 1 saadrd  8iik Riwve
iy & fore Hemer St 387, fPs SraeRum uR memid g2

1. The Revenue Realization Concept / TSI WG SfaeRon
2. The Accrual Concept / lGd YR

3. Historical Cost Concept/ﬁﬁlﬁmaﬂﬁ SHAYRUI

4. Going Concern Concept / dI¢] a3 JdYRUI

Correct Answer :-

« Going Concern Concept / <] G S{AYRUM

22) The database store detailed data needed to support the operations of the entire organization
is known as /

YUl W6 & JATa &1 TETadl H3A P T Sera St Tavas favgd Se1 &) Tfed #var e,
¥ 9 | §E1 A gl

1. Information Warehouse Databases / '{;mele-l aqisld{-l STed

2. Operational databases / SR STy

3. Management Database /ﬁﬁ\?ﬁ?@‘d@ﬂ
4. End User Databases /TS JoR Sclad

Correct Answer :-
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« Operational databases / 3ORMA Scray

23) The is based on recognition of both cash and credit transactions./

TP 3R BT A ] BT Wipid W e 81
1. The Revenue Realization Concept / TSR UG S{GERUM (ﬁqﬁaﬁ@?ﬁ S{IYRUM)

2. The Accrual Concept / URgaT SITYRUT ( TR S{IYRTM)
3. Going Concern Concept / dlc] IdHIY STYURUI (1i =8 P STYRU 1)
4. Money Measurement Concept / Hxl HIU S{IYURUT m—rﬂﬁmﬁ? S{JYIRUM)

Correct Answer :-

. The Accrual Concept / Wlagd AR ( TRRS AIYRUM)

24) The depreciation account is closed at the end of the year by transfer to the /
¥ ¥ 3id # YeugTH WaT B H RIMFIANRT $XP 6 B (¢dT AT 5

1. general reserve Account / ITHIY INERREIG]I

2. fixed asset Account / g aREufy @rar

3. profit and loss Account / ?ITH - EISECIG]

4, provision for depreciation Account / W@I’Iﬁ%ﬁf@ﬂﬁﬁﬂ

Correct Answer :-

. profit and loss Account / T - ETﬁ LTl

25) ABC Ltd. has market price of Rs. 300 per share and price earnings ratio is 15. If the face
value of share is 10, then what is the earning per share? /

ABC faffies & urd ufa TR 300 T FT IR Y4 © 3R Y0 HHTS 3ruTd 15 81 afe R 31
3ifrd Yeg 10 TUT B, ot ufd @R wH1S T 872

1. Rs. 45 /4534
2.Rs. 30 /304U
3.Rs. 20 /20 ®?4U
4. Rs. 50/ 50 »UU

Correct Answer :-

+ Rs. 20/20%4UQ
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26) An integrated set of specialized programmes that are meant to manage the resources of a
computer and also facilitate its operation is called A

FE & AATYH! BT UG HA 3R TP HATa P GrAUTeD 9411 & e IRty sriwal & ve
Plpa A H FEIACT R

1. Language processors / CIaST UTERR
2. System software | Req Airedar
3. Operating system / SR Rer

4. Application software / Ql-ﬂnl%led TedaR

Correct Answer :-

« Operating system / TR ReH

27) A Ltd maintain Margin of Safety of 37.5% with an overall contribution to sales ratio of 40%.
Its fixed cost amounts to Rs 5 Lakhs. Calculate new margin of safety if sales volume is
increased by 7.5% /

A forRes 40% @) fos) Srqura & W1 GRS & 1Y 37.5% D1 YRET AT HY I91C 7EdT 8 | Dt
Fif3ra amTa R 5 @@ T §1 feht Y AT 7.5% Bt gk B UR TS JRET HHT B 0T B

1. Rs.600000 / 600000 ¥
2. Rs.400000 / 400000 TG
3. Rs.900000 / 900000 TTY
4. Rs.350000 / 350000 T

Correct Answer :-

. Rs.900000 / 900000 SUH

28) A firm incurred Rs10,000 to retain the title of a land purchased for business in litigation with
third party Under which category this expense will be reported? /

dR v&r & A1y gheHars! § AR & g @I 18 Y R 5% B 991 3@+ & e o wd =
10,000 U4 WG T Ifh Aot & d8d 39 Td Dt GIAT & A2

1. Capital expenditure / ﬁ’gxﬁm

2. Revenue expenditure / XISIkdd g

3. Revenue income / XS 3T

4, Deferred revenue expenditure / RIRTT SR g

Correct Answer :-
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» Revenue expenditure / X[SIkdd oY

29) A firm selling price of each bulb is Rs. 200 and variable cost is Rs. 160. The company is also
incurring fixed expenses of Rs. 50,000. Find out the total required sales to be made to earn profit
of Rs. 10,000. /

TP BH & gRT T Tod BT f91 Yo 200 FUT B 3R uRad-1a dRTd 160 FUT B 1 11U § Hu=it
S0,0%WWﬁwmlﬁaﬁW?ﬁ%I 10,000 FUT BT ATH UTWT B &b T MTaRAH Fd faspi
RIGKZY

1. Rs. 2,40,000 / 2,40,000 ¥4
2. Rs. 2,50,000 / 2,50,000 ®¥4Uq
3. Rs. 2,00,000 / 2,00,000 ¥UU¢
4. Rs. 3,00,000 / 3,00,000 ¥UTQ

Correct Answer :-

+ Rs. 3,00,000/ 3,00,000 ¥4Ud

30) ABC Itd bought an asset on 1.04.2015 at an original cost of Rs. 2,00,000 and depreciation is
charged @ 10% p.a. at written down value. What will be the depreciation amount for financial
year 2016-17 ?/

ABC fffres 9 1.04.2015 1 2,00,000 U Ft & AN W TP Juft @G SR forf@a g =
TEIBRI 10% Ufaad 35t g3 wR gyl farar smar 81 faxia avf 2016-17 F e geagr iy & gl

1. Rs. 20000 / 20000 ¥Ud
2. Rs.15000 / 15000 ¥UY
3. Rs.18000 / 18000 3T
4. Rs.16000 / 16000 ¥Ud

Correct Answer :-

. Rs.18000 / 18000 3T

31) An amount spent for repairs of machinery for preventive breakdown measure is:/
U H® SHSIS SUTd & g =i+t 3t TRewa & forg @ d &1 715 A 8:

1. Revenue Expenditure / XS4 g

2. Capital Loss / q’\GﬁETﬁ

3. Capital Expenditure / Usil 309

4. Deferred revenue / SRR IoRa
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Correct Answer :-

« Revenue Expenditure / Xe¥d Ug

32) P Ltd purchased a machine on 1st July, 2016 for Rs 8,00,000 and freight and transit
insurance premium paid Rs 25,000 and Rs10,000 respectively. Installation expenses were Rs
40,000 and salvage value after 5 year will be Rs 50,000. Under straight line method for the year
ended 31st March, 2017 the amount of depreciation will be? /

P faffRs A 1 TS, 2016 I 8,00,000 FUY F TH A= TIIET 3R ATAUTST 3R YR 1
HPaw R HHRE 25,000 FW 3R 10,000 FUY FHT YT fHaT| RITUAT W 40,000 39T & 3R 5
T & 916 GIRIE G&I 50,000 U T 31 AT, 2017 &1 AW 9 & fog Heht Y fafyr & aga
TeasTd Dt R gRi?

1. Rs.160000 / 160000 ¥UY
2. Rs.150000 / 150000 TG
3. Rs.130000 / 130000 TG
4. Rs.123750 / 123750 TG

Correct Answer :-

. Rs.123750 /123750 304

33) Premium paid on redemption of debenture is accounted under which head of cash flow
statement? /

fedwR a1 Bu-ua & ufde™ R YiraH e it # Fea A 3 fPa Ted vae i $3s &
a8 T fam Srar 872

1. Not accounted in cash flow statement / & al Udrg faavur § ear =gl
2. Investing activities / [EERRIIGIEIRR]]

3. Operating activities / gfEred TTiafafer

4. Financing activities / fa<htg wifafaferai

Correct Answer :-

. Financing activities / fa<iig mfafaferai

34) Cost of abnormal wastage is /
T qaTE] BT AT gl
1. Not charged at all. /

foreepe g Tt 1 1S
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2. Charged to the profit & loss account /
ATy 3R BT W1 H gHIRG BT 718

3. Charged to the product cost /
JdTE TRT A THIRA i T8

4, charged partly to the product and partly profit & loss account /
31 TU T IdTE 3R SHifRd U F a1 MR g1 |ra I YHIRd &1 18

Correct Answer :-

« Charged to the profit & loss account /

AT SIR BT Wrd & yHIRd 31 T8
35) Comparative statements are also known as: / ¢I-IcH® IECRUED] E'HT-I'I'F['@ WY ST ST %:
1. Vertical analysis / didad [d=aioor
2. External analysis / STl fa=eyor
3. Dynamic analysis / iR fa=eryor
4, Horizontal analysis / afas fazayor

Correct Answer :-

« Horizontal analysis / afast e

36) Dividend are usually paid as a percentageof __ /
WY IMIAR R P yfa=d & =0 & Yira e s 7
1. Net profit / j[& <IH

2. Authorized Share capital /G{fﬂﬁwq\\?ﬁ

3. Paid up capital / W& Gsit

4, Called up capital /ﬂ'l"ﬂTFatq\\_rﬂ

Correct Answer :-

. Paid up capital / 9&<l gait

37) XYZ Ltd. has an opening balance of creditor Rs. 40,000, closing balance of creditor Rs.
50,000, payment made in cash is Rs. 85,000 and the discount received is Rs. 2000. The net credit
purchase during the year is: /



XYZ ffies & U 40,000 TUQ HBUGAT & URIUS ¢4, 50,000 FUT HUIGTAT & Sifad 69, THgr o
foraT AT YITET 85,000 FUT 3R U B 2000 FUT B 1 94 & R fad IUR w4 &:

1. Rs. 97,000 / 97,000 24U
2. Rs. 99,000 / 99,000 ¥4UUg
3. Rs. 49,000 / 49,000 ®¥UUd
4. Rs. 55,000 / 55,000 ¥U¢

Correct Answer :-

+ Rs. 97,000 /97,000 »4u

38) A procedure to measure the degree of compliance an organization has with the existing legal obligation
and labor laws is called .

ﬁqm%ﬁmuaﬁ?mmﬁ%muﬁmﬁw%um%mﬁmm

1. Labor Procedures / %IIU;IWTQ

2. Industrial Relations / mﬁaﬂ

3. Labor Laws / 4H DI

4. HR Audit / TI3IR 3T (HHd IJHTEH Tar ULl

Correct Answer :-

« HR Audit / TI3MR 3fifSe (AT THTH Tiar RI&on)

39) Your company’s bad debts for the year are R. 4,000. The reserve for bad debts at the beginning of the
year is Rs. 2000. You want to create a reserve of Rs. 3000. What is the additional reserve that you need to
provide in the profit and loss account? /

3TYPT HYT b oI 4,000 SUT & =M BT 2 | I9 & ARY T 3T BUN BT HAT F. 2,000 AT 3T
3,000 ¥UT BT TIY FATT A8 & 1 STUH] ATH 9 g1~ @Ta | fha- sifaffe d=g veM &= g

1. Rs. 3000 / 3000 ©UU
2. Rs. 1000 / 1000 ®UU
3. Rs. 9000 / 9000 ¥YU

4. Rs. 5000 / 5000 ¥UU

Correct Answer :-

« Rs. 5000 /5000 %UU
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40) « is a set of systematic activities carried out by the entire organization to effectively and
efficiently achieve company objectives so as to provide products and services with a level of quality that
satisfies customers, at the appropriate time and price.” /

u mﬁ%ﬁ@ﬁmammmﬁ%mﬁwmmwﬁm
TRATRE) BT TF THE & Rrd 36 WR 3 UET ¥ SdTE U9 94T UeH 31 o 9 o) SR 99
3R G R UTeD| B AP Pral 2 1”

1. Industry wide Benchmarking /33@ CIESEELIER
2. Six Sigma / R Ry

3. Total Quality Management / ¢l J[OTd<I U&=

4. Total Quality Control / &< I[UTATT [BRELYI

Correct Answer :-

« Total Quality Management / ¢ T[UTd<l U

41) If an HR Manager uses Robert Kaplan’s structured report, supported by proven design methods and
automation tools to track performance of employees, he is using i

Tfe T TR AAoR e Feud gr1 Hffa Rl o1 Sumw war 8, it i sl & srduexi=
wru;wﬁ%ﬁmmﬁm Sfe, fAftray auT SITeARM ¢ | g §, a1 a8 19 &1 SuaiT a3
38T 8-

1. Employee Report/ml'\ﬁ R

2. Balance Score Card / SO TR PTS

3. Paired Comparison /gﬁtﬁ@ﬂ:ﬂ
4, 360 Degree Appraisal / 360 G{SZTW

Correct Answer :-

« Balance Score Card / oY THR BlS

42) is a set of five worldwide standards that establish requirements for the management of
quality /

% fagoamit A &1 U@ Je & & TUraT & YeUE & [T sraxadarsi & RA1fid
FRATG
1. ISO 9000
2. QS-9000

3. Six Sigma / 1T R
4, Benchmarking / ST
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Correct Answer :-

« ISO 9000

43) Depreciation is provided only on____ / {eIgIH W_ R U frar Srar g1
1. Intangible Assets / G'I'H\?f Sy

2. Fictitious Assets / Pietd TUfxI

3. Current Assets / A U

4. Fixed Assets / 3a¢ Jrfxl

Correct Answer :-

. Fixed Assets / 3T JHf

44) The quality management practice that considers the experience of others and uses it to search for
highly effective operating procedures is known as: /

TUTGNIT YT ST Wil gkl & YT B1 TUIal § SR it UHTdt siTaRfer ufshanaii &1 @il &
fore st SUaNT HRaT B

1. Globalization / I\eRUT

2. Quality Circles / [UITHD Jd
3. Standardization / HTTeIHRUT
4, Benchmarking [SHTHT

Correct Answer :-

« Benchmarking ICELIIE

45) EPZs refer to / ﬁﬁ%" '\‘Eﬁh Pl %:

1. Extra Processing Zones / Sfafad Ui &
2. Extra Promotion Zones / 3ffIRad g &=

3. Export Promotion Zones / fafa dad= &=

4. Export Processing Zones / rata T 8

Correct Answer :-

« Export Processing Zones / Frafa T 8
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If Incoming partner brings anything in cash other than his capital contributions then it is termed as
/

gfe 3= arar |t e Yo O eM & saaT Adpat A o W aargdisy_ deTwar gl
1. Profits / TY

2. Capital / JoiT

3. Reserves / o

4. Premium for goodwill / G & g TP

Correct Answer :-

« Premium for goodwill / TRg & Terg Wiftrgw

47) Discount on issue of Debenture is a /

feawR a1 B3 T R R ge TE gl

1. Capital Loss to be shown as Goodwill / HId % Xy ff W&ﬁ Tl‘s“ tl“‘ﬁ ETET

2. Capital Loss to be written off oven the tenure of debenture / FU-UF Bt Y TR @I fl;Tﬁ ET&T
3. Capital Loss to be written off from capital Reserve / qfrﬁ feast 9 tq’mqﬁﬁ GG

4. Revenue Loss to be charged in the year of issue / SR fopd STH aTel a9 H gHTRG IoRa g

Correct Answer :-

« Capital Loss to be written off oven the tenure of debenture / BUI-UA & Al TR @R itvﬁaﬁ

48) The cooperative organization which are set to eliminate middlemen and to ensure a steady supply of
high quality goods at low price are known as /

TePRI T sl fodiferdl #f Tt w31 & forg e § ok 0 1 IR 3= Jorast ardt e &t
FR@R emgfd g s e g 39 CadESIGI

1. Farming Cooperatives / | w fffa

2. Consumers’ Cooperatives / JUYIESH & TehRI T
3. Producers’ Cooperatives / Sl EREANESIEIG]

4, Housing Cooperatives / SRR IR

Correct Answer :-

« Consumers’ Cooperatives / reepticnI ) %?IWRQI gfafa
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You are introducing a new car in a segment where there is absolutely no competition and for which you are
sure there is considerable demand. But you have gathered from sources that a competitor of yours is
developing a car in the same segment and may launch it in other 6 to 8 months. Which pricing strategy would
you adopt for your new car? /

3ATY TP T o ) PR dli-a P2 T2 & ogl Irdd & $1S ufaeqyf 781 8 3R 3! [T war g i
D yate 7 30 | Af muehY rue AT | ueT Ferar & % simust ve wiarudf 3¢ e ot
TH DR [AHRIT H 38T € oRIP 6 A 8 ATE | A1 g1 DI GUTAAT § | 3ATT (U -5 PR & U g8 9
DI I e T SruATE

1. Rapid penetration /Wﬁﬁé}‘fﬂ
2. Slow skimming / Tl BT

3. Rapid skimming /WW‘T

4. Slow penetration /@ﬁﬁ?}ﬂq

Correct Answer :-

« Rapid skimming /WW‘T

50) What does the amount of quality output for an amount of input mean? /
3¢ 3 AT $ AT TurawIT SSeye St AT $T T dIead 82

1. Production / TG

2. Productivity / 3dTgahdl

3. Sales increase/ﬁﬁﬁ@@
4, Profit making / <lTH &[Tl

Correct Answer :-

o Productivity / SdIGhdl

51) In marketing phraseology, who are laggards? /Wm ﬁ, q& e fra Dl SIIdl %?
1. Customers who do not need the product but buy it anyway /

I UTED e T BT R 81 8Id1 8, s e i 3 fondlt 1 foreli Re A wdied §

2. Customers who buy a new product last after everybody else has done so /

3 UTESD Il 11 e e fbel & @ilen & o1g @iad §

3. Customers who buy imitation products /

J U Sl Fohll 3G TG &

4, Customers who are lazy /
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3 UTe Sl AT B &

Correct Answer :-

« Customers who buy a new product last after everybody else has done so /

RS ol 791 IAE e [ & @oe & 918 @ed &

52) Visible and less visible competencies are concepts used to study ./
a3i+a vd HY a=ig srdfats-amdang fa & sreoe= o uged g4 ardt SaURug &-

1. behavioral interviews /

X HIdo[Y HI&Teh R

2. competency-based interviews /
Br-Falg & SR HIETHR

3. set standards for members of a particular profession /
fafRry U=l & el & forg Fuiid o

4, the Iceberg Model of Competencies /
HRIaTe-&Hdrsll FT SEaar Aled

Correct Answer :-
« the Iceberg Model of Competencies /

PRIaT-&HdTSN BT 3MSgat| Aled

53) Ventura Kapital, German venture capitalist (VC) expects a high return from its investment in any start-up.
Which of the following does not explain this demand? /

IR Hited, FH R Siuefere fed +ff wid-srm & o™ fAaw d S= R ot srien wad g1
Frafeafaa & A &9 91 fawe 39 7R 1 eI 981 H3d1 872

1. High returns have been achieved by the VCs investments in the past /

3rcfta # et & o= 7 9= R fear g1 8

2. VCs provide more than money; they also bring in advice, networks and strategic inputs for which they do not
usually charge /

gﬁ;ﬁ;ﬁﬁﬁmﬁraﬁiamﬁﬁaww ze Pt off Yare 3 § e e 3 i Yoo T8t

3. VCs invest only for controlling stakes in a business, so that they can steer management actively towards
activities that maximise returns /
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it Fad foeg A <fg FifRa w3 & fou Rew o § 39fie 3 uses miafafd ol Sg feem A a o
Thd & Sgl S=aH Ree fraar g

4. None of these / 37|'Ef I aﬂ's‘ :I_Eﬁ

Correct Answer :-

« VCs invest only for controlling stakes in a business, so that they can steer management actively towards
activities that maximise returns /

it paet faoma & gid MafRd s & fow Raw #3d €, 4iee 9 yeyd Tiafafd o) 39 ez d o o

gohd g oigl Saad e fiearg

54) The time normally taken in receiving delivery after placing orders with suppliers is known as /

AR R SMyfddmatell & AT TSR &7 & a1g feeftasdt ure o= # foran mar wwg ST H
ST ST 8 1

1. Re-order Level / R-3T6X TR

2. Lead time / 11 GEL]

3. Maximum Level / 3 dd TR
4. Minimum Level / <JIdH ¥}

Correct Answer :-

. Lead time / TS €I5H

55) All of the following are examples of Financial Markets , except: /
o @t o ToIRY & SaTeRwr €, Ryara s9:

1. Banks / 9%

2. Foreign Exchange Market / facr fafmg IR

3. Call Money Market / Pid J AThe

4. Stock Market / 2R STSIR

Correct Answer :-

o Banks/ %

56) Financial Markets have an essential economic function of efficient allocation of /
farilg IRl A & PRI 3fTde B TP aAD MMAH B4 g1 7|

1. Lenders-Savers / BUlQId-3&IRD
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2. Capital / H\Trﬁ
3. Liabilities / STdT3f

4. Securities / U%Hﬁﬁf

Correct Answer :-

« Capital / Q\Gﬁ

57) The Market Capitalization of a publically listed firm is defined as: /
TP Ao U q Fellag B & SR Golieeor o g § aRyrie fear sar g
1. Market Capitalization = The money brokers charge for selling common stock /
STOIR YSiIehR0T = HIHT= ]IAR a9 & Tl SR gRT HiTT 7T &
2. Market Capitalization = Net Sales — Cost of Goods Sold /
TSR Goliahrul =Yg fash! - faford arer &1 arrd
3. Market Capitalization = The value of intangible assets of a company /
STOIR Yol 0l = fhat Ut &t 31 AUl o1 e

4, Market Capitalization = Common Shares Outstanding X Common Share Price /

SOTR YSIh 0T = HTHY AR FhIT X JH=T RER G

Correct Answer :-
» Market Capitalization = Common Shares Outstanding X Common Share Price /
WW=WWWXW équrj\?q

58) The three factors that influence consumer behavior are: / SUHIT dgl¥ &1 YYTFAd B a1l di|
PRS o

1. Subcultures, Financial Systems, Politico-Legal Environment / SUZb d, fa<iig uITeil, RTSHitd-Bl
giaRur

2. Political, Economic, Social, Technological / Tﬁ:ﬂ%, e , W, GERICH

3. Personal Factors, Product Factors, Promotional Factors / HAfaaTd DR, JUIq PRD, TR HRB

4. Cultural factor, Social Factors, and Personal Factors / Q—Ii@lraob DR, AT DR, B‘ﬁT G Td PRD

Correct Answer :-

o Cultural factor, Social Factors, and Personal Factors / 'Hi'&cflracb DR, WW, 3R AfFHTT PRP
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The stage in Product Life Cycle when most of the market has accepted the product, and sales growth start
showing a slowdown, is called o b

IS SiIa- =5h BT 98 TRV WIF UGBTI IR A ITE H WPR o foran 81, ok st o g vt
fam™ @7, SA FRI SR |

1. Decline /ﬁ‘R'IaT:'

2. Origin /B_CEIﬁ[

3. Growth /ﬁam

4, Maturity / g d

Correct Answer :-

« Maturity / GRT&dl

60) The World Trade Organization, international organization which enforces the international trade
rules, has headquarters in which city? /

%ﬁﬂwwm,am@qWﬁamﬁ@nwﬁmﬁaﬁmm%,%g@mmwﬁ
?

1. The Hague, Netherlands / %”T, 7‘“3?@3@!

2. Brussels, Belgium / g@lci—l, SIRvE

3. Paris, France / elﬁﬁ, »i
4, Geneva, Switzerland / ﬁrﬁTﬂ, wg

Correct Answer :-

O o

« Geneva, Switzerland / a1, faeoRds

61) The three kind of marketing channels employed by Marketers are: /
fassar (@rdbed) gRT o FiF ToR & Ard T I &
1. Communication Channel, Distribution Channel, and Service Channel /
2. Communication Channel, Promotion Channel, and Media Channel /
AR I, Yad= o (IR e, SR Hifsan a-a
3. Promotion Channel, Public Relations Channel, and Media Channels /

4, Servicing Channel, Financial Channel, and Promotion Channel /
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TIARAT < d, e RAd o-d, 3R THIH o d

Correct Answer :-

o Communication Channel, Distribution Channel, and Service Channel /

62) The Full Form of Acronym SEBI is / gi¥quff *1eq SEBI &1 IIUqu g
1. Security and Equity Board of India / YRA {R&‘ITQH%@E&@GF

2. Speculation and Equity Board of India / URAIG 3ehadri U4 Sfeel ale

N C

3. Speculation and Equilibrium Board of India / YR femhaarol 7d '{-ng’I dls
4, Security and Exchange Board of India / YR Ufdyfd Td fafma EIE)

Correct Answer :-

+ Security and Exchange Board of India / YRA Qﬁf@ wd o ars

63) The number of employees reporting to a manager is defined as: /

T AR &1 Ul H39 910 Sl @) 9@ o 39 ©u & uRyrie faar s g:
1. Unity of direction /WWWWW}
2. Unity of command/mww&ﬁcﬁm

3. Scalar chain / T YT (WhAR o)
4. Span of control / Fd=or 3rafy ({-ad 3 O'bg\lﬂ)

Correct Answer :-

« Span of control AERELIIGIR] @7[ Gﬁl'q?a'@?‘l)

64) There are two types of exchanges in the secondary market for Capital Market Securities: &
/

Yol IR ufayfoal & fere fifoas TR # &) UoR & TR §: 3R
1. Phone , Hand-to-Hand / tﬁﬁ, T8y

2. Rule Based, Principle Based / IBREK ?-ITﬂ?T, Rrgia smema

3. Organized , Unorganized / ﬂﬂ%ﬁ, 3RS

4, Over- the-counter, Exchange trading / W—E—W, fafa R (Qd{-ia.\rl a'%"'l)

Correct Answer :-
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+ Over- the-counter, Exchange trading / R-g-H13eR, faf g AR (L{GIHQI.\)‘I a%‘ )}

65) There are two basic compensation philosophies which lie on the opposite ends of the compensation
continuum. They are -/

FHTawT ATaed & fausta RRY wR fRua gt girard) gamasr aromg §13 §:
1. Hour based and Outcome based /Ei% TR 3R gfome amerfyd

2. Entitlement and Performance / HfIBR aﬁ?wagr{

3. Fixed and Variable / TR 3TR SRR

4, Seniority Based and Market Adjusted / afgar smemia 3R ISR FHRATT

Correct Answer :-

« Entitlement and Performance/&f&idﬂ% Gﬁ‘\’ IdpR

66) In Abraham Maslow’s hierarchy of needs theory, there are 5 distinct levels of individual needs. Which
option corresponds to correct levels (in order from low to high) /

SSTEH T & SATIRYH Al UG H & Rigia A, safcaita sievdl & 5 fafkw wr &1 #1991 fawen
& W 4 99 @i § (99 = a@)

1. Physiological, Social, Safety, Esteem, Self-Actualization /
TR, AT, G4, AT, T TR0l
2. Safety, Physiological, Social, Esteem, Self-Actualization /

IR&MT, RN, JHEToih, STETHM, I TI&N B0

3. Physiological, Safety, Social, Esteem, Self-Actualization /
RIS, GRET, HHEISTD, ATEHTHH, T T HRul
4, Social, Physiological, Safety, Esteem, Self-Actualization /

TS, ARIRD, RET, ST, ¥ TIafidh o

Correct Answer :-

« Physiological, Safety, Social, Esteem, Self-Actualization /

YRING, YRET, TS, ST, T T afidmRul

67) PEST analysis in a business is used as a method of: /

TP a9 § U (fsuad)) fazayur &1 F1 fafr & w=u o gxdaTa fpar sar g1

1. Organizational analysis / TGP IEESLLI
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2. Customer analysis / Ulgh [EESRL]
3. Environmental analysis / qgiaRur fazaor
4, Market testing / SITSIIR TRI&for

Correct Answer :-

« Environmental analysis / gofaRur fawayor

68) FW Taylor is predominantly known for his work on which of the following perspective of
management? /

Ths SoR oTa-uaeq & fFafafad # @ fera uRiler = oA o1 & e o1 oird &2
1. Humanistic approach / Haararg! gffaiu

2. Administrative principles / TR -® RIgial
3. Bureaucratic organizations / PRI T3

4, Scientific management / aiﬂm PPERE]

Correct Answer :-

« Scientific management / CRIRERERE

69) Mentees benefit from reverse mentoring in all the following ways except- /
Adw (Mentees) frad ﬁEﬁ"T, Mentees @Y I fAgferad &t @BIW Iy i Tl I 914 ST %'-
1. Learning how to engage with Gen Y subordinates /
S A8 (Gen'Y) TR o 1 ST HRg1
2. Being able to bridge their skill gaps /
D] SIS o fARTeT bl HRA | FafHdl
3. Gaining knowledge from the vast experience of mentors /
Ted & AMUS SIHT I T U HRAT
4, Getting an insight into the consumer preferences of the youth segment /
gar @il o} Juiie a8garaht & Siadf® T FRAT
Correct Answer :-

« Learning how to engage with Gen Y subordinates /

S A8 (Gen'Y) HTHRIT & T1 ST g1
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70) What do you understand by acronym WACC? / 3feafoie Wsg WACC (EWQW) T 3T T
U 872

1. Weighted Average Cost of Capital/ yiika aird Tfﬂ Hl

2. Weighted Average Cost of Cash/ TJard! Bt UG STd arTa

3. Weighted Associated Cost for Corporation / PITRIAE & ﬁfq TR Heifad arTd
4. Weighted Associated Compensation Cost / UIRT Faifdd H3TIST < Td

Correct Answer :-

« Weighted Average Cost of Capital/ TR SfTd Q\TYﬁ HA

71) According to the Hindu Undivided family, who is defined as Karta? /
g Siftved $gt & R, Fdl & &u H ford aRyTita fvar wirar 82
1. The junior most inheritor of the membership /

Al & FWIMYBRI Fad FFATR
2. The senior most coparcener who manages the joint family business /

et IRAR & TG &1 T B ard aRg Te-JHd®

3. Any member who gains membership by association with senior most member of the HUF /

P15 i I S HUF & IRFdH IS & 1Y JEUNT Hoh edl UTed Bl §

4. Any male member who gains membership just by birth /
B3l 790 Yo7 S Had o A & TSIa1 U aRal §

Correct Answer :-

 The senior most coparcener who manages the joint family business /

Tgad URaR o SIGH™ &1 JdIferd HR- didl aiks Je-gqd®

72) Which of the following is a disadvantage of the matrix management system? /
fFraffET # @ siregg weitr yomelt & g1 S W 82
1. It creates a conflict of loyalty towards managers. /
T8 YeHe! @1 1% i TRikiy Sad a8
2. Individuals cannot be chosen according to the needs of the project. /
AT UGS &1 TReRdl & STIR 99 gl B qhd g

3. Teams are not dynamic. /

3 Taie T Bl B
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4, It prevents sharing of resources across departments. /

Ig AU & I91eAT T ITeepu APl g

Correct Answer :-

« It creates a conflict of loyalty towards managers. /

g U] o1 8T P ufa Tfokly Iad Hd g

73) Which of the following are(is) Bretton Woods Institution(s)? /

Frafafad & 4 e 9 gea wumeht 8R)?

1. UNICEF and UNCTD / Z{-4 3R JUAICIS! (Hger Y ATUR SR fabrg Trie)
2. OPEC only / dd 3{U®H

3. WTO only / hdd Seegcl3fl

4. International Monetary Fund and World Bank / &I?Rf@'q Hal DY 3R fay &

Correct Answer :-

» International Monetary Fund and World Bank / m@q Hal HIY 3R fay d&

74) Which of the following was founded as “the International Bank for Reconstruction and Development”
in 19442/

Frafafea & 9 o9 91 1944 § A0 SR fder & R siaeigia do & wu # wifa fear wan
Y12

1. World Bank/ f3% d&
2. Unemployment Indices / SRISATIR] W

3. International Monetary Fund (IMF) / &Iﬂﬁ@ﬁ Hal EaL (GTIg'QTI'QCFf)
4, United Nations / GG MY

Correct Answer :-

» World Bank/ ﬁ%’ ém

75) Which of the following shows summary of a company's financial position at a specific date? /

FrafafEa ¥ 3 &9 w1 ve FAfda e w® ol soei 9t g Rufe &1 ariw feamar g2
1. Balance Sheet / 9019 ¥fie

2. Profit & Loss Account / 1Y 3R BT WTa

3. Cash Flow Statement / o] UdTg fdaR0l
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4. Income & Expenditure Account / 31 3R g Il

Correct Answer :-

« Balance Sheet / S e

76) Which of the following can be defined as a unique capability that creates high value and differentiates
an organization from its competitors? /

Frafafaa o 3 53 ve sifgda emar & u § ufvuriSa forar < Twdr 8 o S ged S9! 8 iR
forelt e+ @ 3= wfereafefal & eremT weedt 82

1. Core Competency/ﬂﬁm
2. Human Resources / ATFd 1Y

3. NPS scores/@ﬁ@w
4, Organization Development/ww

Correct Answer :-

« Core Competency / HETWHT

77) Which of the following is not a differentiating characteristic of services? /
Frafafed & 9 o= o Jarsi o1 1@ faves fivar 781 82

1. Inseparability / foaregan

2. Intangibility / SIRYYdT

3. Homogeneity / Th=Ud[

4, Perishability / HTT

Correct Answer :-

« Homogeneity / Uh=Udl

78) Which of the following is not a form of private sector enterprise? /
Frafafad d @ &9 91 U6 PR &1 urgde Jaes S9¥ T8l 82

1. Partnership / YRIGRI

2. Public Sector Unit / HIJWDIOb 3-33 i')d?lig

3. Cooperative Society/ ehRI G

4. Joint Hindu Family / §gad f§g URAR

Correct Answer :-
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« Public Sector Unit / GTaoli-d 533[ 'icblsr

79) Which of the given Accounting Standards deals with property, plant and equipment? /
3w T At aee B @ B Hufvy, A SR Suwer @ Wl 32

1. Accounting Standard 14 / G HHS 14

2. Accounting Standard 21 / TRaT A 21

3. Accounting Standard 2 / G AFSD 2

4. Accounting Standard 10 / AT A 10

Correct Answer :-

« Accounting Standard 10 / YT T 10

80) Which among the given financial instrument is a money market instrument? /
ferg g farefar Wl # @ B4 1 A AT $eeHe B

1. Equity Shares / 3’@_@[ R

2. Preference Share / TTUTH@RdT 2R

3. Debenture / U0MUA

4. Treasury Bill / @G-l foa

Correct Answer :-

. Treasury Bill / WSIHT fad

81) Objective of mutual funds is to provide diversified investment opportunities to /

TRERe Y o1 Sxa A o) faenfad Feaw & saeR ueM s 8t
1. Sole proprietors / Uhcl Aol
2. Small investors / BIc FFADI

3. Partnership firms / H@aﬂ 'IREIGH
4, Public companies / e Hufat

Correct Answer :-

« Small investors / B¢ AP

82) How is customer derived value calculated? /
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UTeh gcdd Hed B TUMET S DI STell 82

1. The customer’s product cost minus the scrap value of the product /

qEdh o TG P ANTd U F IUTE BT AR o Ul HY

2. The customer’s product cost minus the cost of manufacturing the product /

e o 3G P! ARTI U J IATE Bl SATG AN DI T B
3. Benefits a customer gets from the product minus the customer’s product cost /
el e &I IdTe I e ar arH U I Te® & IAIG DI AN °el B

4, Benefits a customer gets from the product minus the cost of manufacturing the product /

ot Ue® &1 Idie ¥ fiaH drd a1y § ¥ SdTG & SAIGH AT &I °cl B

Correct Answer :-

» Benefits a customer gets from the product minus the customer’s product cost /

ot urg e &1 Idre ¥ e a1 iy § O U & IS P ARTd Ul BT

83) Premium on Redemption of Debenture account appearing in the Balance Sheet is a ./
-1 (a9 i) A REE J ok TR @R F e wiitmuee _ ?1

1. Real Account / IRdfdes Wrdl

2. Personal Account / HfaaTd @rdT

3. Nominal Account- Expenditure / TTHHIA dIdT - oY

4, Nominal Account-Income / THHEA QIdTl - ST

Correct Answer :-

» Personal Account / HfgaTa @rdr

84) While winding up of a company, salaries due to a clerk is preferential for a period not
Exceeding /

T HU BT THTIT 811 TR, T T PRYI da 39 3afy & fore siftmr=a glar g =i fo 3
e T B

1. Two Months / a’r ﬂaﬁ

2. Six Months /Wﬂﬁ
3. Three Months /?‘ﬂ:f W@ef

4. Four Months / IR HgIH

Correct Answer :-
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« Four Months / dR Ilﬁef

85) While preparing Liquidator's Statement of Account in case of assets specifically pledged in favour of
Creditors, any surplus arising from such asset is entered in /

FUCET & Ual § ARy U & godg Suldl & AmFd § TREHIS o7 9@ f9avur 4R #id 999,
ol Ul 9 S g1 aral faedt oft siftia +1 A oo fpar SIar g1

1. Surplus from Securities /qﬁﬂﬁ@f T Ay
2. Profit and Loss Account / Fﬂ“—[—ﬁ'ﬁ IGEG]]

3. Deficiency Account / GTCI;UT SEC]|

4. Securities premium / Qﬁ"f'{% TiftH

Correct Answer :-

« Surplus from Securities / WAyl ¥ iU

86) “Current Purchasing power Method” relates to which type of Accounting? /

“FAHT 5 T faflkr {5 TR & daie- 3 Haltd g2
1. Inflation Accounting / Wﬁ AGIHT

2. Financial Accounting / oI s g

3. Cost Accounting / AT A ih

4, Social Accounting / g1 ARaiehA

Correct Answer :-

« Inflation Accounting / Wﬁ SLEICCR!
87) CANCELLED

On 1.04.2015 a machine was purchased for Rs. 1,00,000 and Rs. 50,000 was paid for installation.
Assuming that the rate of depreciation was 10% on Reducing Balance Method, calculate the
amount of depreciation up to 31.03.2018./

1.04.2015 B TH A= 1,00,000 Tu & TR 1t <t 317 50,000 T T YA 3D TITIAT & forg
forar ) W?@%Wﬁﬁmﬁfﬁwwﬁaw% 2, 31.03.2018 TP GeugTH Hi
AT BT T B}

1. Rs. 12,500 / 12,500 »UUY
2. Rs. 48,000 / 48,000 ¥4
3. Rs. 40,650 / 40,650 ¥4U
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4. Rs. 36,500 / 36,500 ¥UU

Correct Answer :-

+ Rs. 40,650 / 40,650 »UU
88) CANCELLED

When an issue of securities is made by an issuer to its shareholders existing as on a particular
date fixed by the issuer, it is called a /

wig Rl grRT freifea et faRiv aiia o Sued diver ARURST i aRiear gRT ufayfaay &1
HET ST SITaT 8, a1 59 FETSar g

1. Bonus issue /@FM@T (Emﬂ_{-@b

2. Right issue / 3f¥HR T&T (RTSC 1Y)

3. Private placement / FisT I fFgfaa (urgde wivde)

4. Preferential allotment / 3fIAHT 3fided THIRET srdicHe)

Correct Answer :-

« Right issue / 3YPHR T&T T3 3Y)
89) CANCELLED

is defined as the rate of present value of the future cash benefits at the required rate of
return to the initial cash outflow of the investment. /

P Fa=1 & I[eTdl Awe afgdals &1 aTuRil @1 SaRa® o3 WR HiaST & THe a1H & gdH=
T 91 g & ¥ H TRUTRG fovan Smar 81

1. Net Present Value Method / §&d Ia A4 fafd)

2. Internal Rate of Return Method / AT fafYf o1 3iidi¥e X
3. Payback Method / Ueie fafer

4, Profitability Index / TTHYGAT JAhich

Correct Answer :-

. Profitability Index / STHUGHT Jedhid

90) CANCELLED

In case of voluntary winding up, the statement prepared by the liquidator showing receipts and
payment of cash is called /
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Wiese quIH & a19d |, Wiiel ok T@dt & Y &1 fiard ge uRmm= gR1 daR faewor
Ca| SR gl

1. Liquidator’s final statement of account / a1 T IRTHA 3Sifad faaru
2. Cash book / S&! T (H 2 )

3. Cash flow statement / 4] UaTg faaRor

4. Deficiency account / Gﬂ[Uf drdl

Correct Answer :-

« Liquidator’s final statement of account / AT &1 gReHH Sifad faavor
91) CANCELLED

R Ltd. purchased building worth Rs.1,20,000 and plant and machinery worth Rs. 1,00,000 from D
Ltd. for an agreed purchase consideration of Rs. 2,00,000 to be satisfied by the issue of 2000,
and 12% debentures of Rs. 100 each. Calculate the amount of capital reserve credited in the
books of R Ltd. /

R fafires A b farfies ¥ 1,20,000 T # fAfRwT 3 1,00,000 FU3 & Tu= 3R A=A 2,00,000
FUT 9T U TeHd TRIG faaR & Sidifa |qy gid g€ 2000 R} foba, ik U 100 FUT aral
12% & f&aaet @i | R fafies @1 faral o smféma S goit &t ¥ ot 7o #¢1

1. Rs. 10,000 / 10,000 ¥4
2. Rs. 30,000 / 30,000 ®UU
3. Rs. 20,000 / 20,000 ®UU
4. Rs. 15,000/ 15,000 YU

Correct Answer :-

+ Rs. 20,000 /20,000 ¥UY

92) CANCELLED

Shareholders generally elect company directors by two types of voting systems. Which are /
RYURS AR W & TSR & TAGH YuNierdl gRI S el STaud dxd g1 3 5:
1. Legal Voting and Bending the rules voting / WW 3R FgHf &1 79T Adem

2. Classified and Unclassified voting / a"m 3R mw
3. Majority voting and cumulative voting / SgHd Hdal 3R Terft AaeH

4. Majority and Minority voting / dgHd 3R SIS Hdal

Correct Answer :-
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« Majority voting and cumulative voting / dgHd Hdald 3R Yot Adeq
93) CANCELLED

The general pattern of behaviour, shared belief and values that members have in common is known as
./

wgmww,wﬁmﬁmaﬁw@,wﬁm%mwﬁ & U U ST
EIG]

1. Organisation eﬁecﬁveness/waiqﬂ-ﬂﬁﬂv_m

2. Organisation culture / T3 % qldldrU]

3. Organisation matrix/waaﬂsl%f

4, Organisation climate / TG & ATATaRUl

Correct Answer :-

 Organisation culture / I3 % dldldRU]

94) CANCELLED

Which one of the following is not a measure or dispersion? / m ﬁ'ﬁq HIY T SR '\‘ﬁﬂ %?
1. Quartile / aﬁilf-‘?'[

2. Range / &

3. Standard Deviation / A fdae

4. Mean Deviation / Ghﬂ?f W

Correct Answer :-

 Quartile / Elﬁ?-lfsﬂ

95) CANCELLED

Which of the following agreements preceded certain international trade rules (enforced by WTO)? /

Frafafed # 9 fra wasia 3 7d $© siarigia saruR fraw @vrd § (Y SR wi7e= gRT a2
1. NAFTA / FTTURT (STR SR Ho ATIR i)

2. NATO / FTel ( ITRI Siedifed Hfe Wi )
3. OPEC / 300 (dd fAalae St &1 e+
4. GATT / T (f3y IR TTred

Correct Answer :-
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. GATT /1 (f[9y IR T3+
96) CANCELLED
Which of the following rights is not affected by non-registration of a partnership firm? /
TSRl BH & IR-Usfiexur & grT Fafafad 9 & o9 1 silter gvifaa 78 g
1. Right to file a suit arising out of a contract against another member/
5l o Yo & fIaT® 3EY I IUd e ool HRA B PR
2. Right to file a suit arising out of a contract against a third party/
forft R vel & FIaTw Srey & IaOd e oof T BT ABR
3. Rights to set off claims above Rs. 100 / 100
¥ Y HW GTdl D! §a B DI DR

4, Power of an official assignee to realize the partnership of an insolvent partner /

T feaferar et ot ArSIaRT BT TgHN HR o o Tep 3Mfeiepiivey Yufcl-Hi 1 et

Correct Answer :-

« Power of an official assignee to realize the partnership of an insolvent partner /

% fearferar a1ft 1 IrieR) &1 TgUrg & & fold U Snfiieiiies Juf-urh ot wifdd

97) CANCELLED

In perfect competition, the demand curve of a firmis_ ./
St afewyf 8, e ufgm S wimemem iRl
1. Negatively sloped / BUITHD @lc]

2. Horizontal / f&ffcst

3. Positively sloped / YTHD glcl

4. Vertical / digdd

Correct Answer :-

» Horizontal / fg‘lﬁl\_ﬂ

98) CANCELLED

Buy back of Equity shares will be accounted in which activities of Cash Flow statement? /

il AR ot aTuRet WRle, Ade yarg faavur &1 fog nfafafy # wir gt
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1. Operating Activities / R Tidfaferat

2. Not accounted in Cash Flow / &4l Uarg ¥ Tf0rd =gl
3. Investing Activities / o= nfafafra

4, Financing Activities / faxirg wifafaferi

Correct Answer :-

« Financing Activities / faxita nfafafert

99) CANCELLED

The current liabilities are obligations to be settled in period. /
qauF eIl 3afy # e fae WM & e g B

1. Long/ €]

2. Short / 3{eU

3. Indefinite / 3ATYdRTA
4. Liquidation / URIHETYH

Correct Answer :-

o Short / 3{cd

100) CANCELLED

An investor is holding 1000 shares of Right Choice Ltd. The current rate of dividend paid by the company
is Rs 5/- per share. The long term growth rate is expected to be 10% and the expected rate of return is
25 %.The current market price of the share is /

TS a9 & Uy Wge A1y fofies & 1000 AR &1 HUT gRT YA fHT TT AU $1 add- o3 Ufid AR 5
/-m%laﬂgaﬁf?xaﬁq%a? 10% g1 3t IilE g SR aTuRft &1 SgHT =g e¥ 25% 21 AR BT Idd IR
T |

1. Rs 45.60 / 45.60 YU

2. Rs 25.50 /25.50 ¥4U
3. Rs 36.66 / 36.66 ¥UU

4, Rs 50.50 / 50.50 24U

Correct Answer :-

+ Rs36.66/36.66 2UY
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